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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

Harry nodded. He and Rosalie had raised their two beautiful daughters in that house on Walnut
Avenue. Lorraine and Donna now lived and worked in Seattle and had raised their families there.
One or the other came home at least once a month, sometimes more often; his sons-in-law were
frequent visitors, as well. Kenny, Lorraine's husband, had strung all their Christmas lights last week
and brought him and Rosalie a tree. Oh, yes, Harry knew how fortunate he was in his family, how
blessed.

And his grandkids...The four grandkids were adults themselves now and making their own way in
life. Being around his grandchildren did Harry's heart more good than any of those pills he gulped
down every morning.

1) Who was Harry's wife?

A) Rosalie
B) Kenny
C) Lorraine
D) Donna

2) What did Harry feel about his family?

suennae Tachofworld.In
C) Estranged
D) Petrified

3) What made Harry feel better?

A) Pills

B) Rosalie
C) Grandkids
D) Friends
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4) Who were frequent visitors to Harry's house?

A) Clients

B) Doctors

C) Patients

D) Sons-in-law

5) Where were Harry's grandkids raised?

A) Walnut Avenue
B) New York

C) Seattle

D) Los Angeles

6) Fill in the blank with the correct option:

She watched Rajiv an apple with a lot of care.

veea | @ChOfworld.In

B) pale
C) peel
D) pail

7) The phrase "imbue with something" means

A) to fill something with a weak feeling or quality

B) to fill something with a strong feeling or quality
C) to unfill something with a strong feeling or quality
D) to unfill something with a weak feeling or quality

8) Fill in the blank with correct prefix or suffix:

The court allowed the man's claim to the property.
A) dis

B) mis
C) fore
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D) un

9) Which of the following words is correctly spelt?

A
B
C
D

disasociate

disociate TeCh OfWO rld - I n

dissociate
dissoshiate

N N - N

10) Which of the following alternatives explains the phrase "hive something off"?

A) to ignite something with the flare of knowledge
B) to disregard someone of great repute

C) to separate something from a larger group

D) to unite something into a larger group
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following plants is nicknamed “Terror of Bengal”?

A) Eichhornia
B) Parthenium
C) Lantana
D) Opuntia

11) SRS AOQYLR r1iq 62660 QIR “ e@RIa 2Ies” 26T ?

=i Tachofworld.In

QISR
@
agael

A
B

C
D

12) Which one of the following is the guiding principle the Swatantra Party?

A) there should be state's intervention in the economy

B) there should be centralised planning

C) there should be nationalisation and expansion of public sector
D) there should be favourable conditions for individual's freedom

12) 36¢I9 FNQ 646 A0a AITQ ARSI 266 ?

A) 281060 QIRIQ 29689 6241 2GR

B) 69214 601841 6291 @6Q

C) A9RR1R 6899 RIGIGRAE 16* 22IQ 6241 95Q
D) 94966 Q186! alel 2g9R A6 9291 29Q,

13) For providing flexibility to learners, Open Universities follow choice-based -

A) Marks system
B) Grade system
C) Credit system
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D) Percentage system

13) daidiinieg FARINC! gaie @8I Qlg, 99 G4AMINHQEe adR-BIIGE QI AQAE Qa8 -

A) qIs daq

B) 69@ dan

C) 6aGe aan
D) 96deeR a8

14) National Science and Social Science Foundation has been recommended by which of the
following bodies to look at knowledge as one seamless entity?

A) IP

B) IPR
C) NKC
D) IPO

14) 39Rge YT AIQ &4 AYARIR ARY 6 6ATAR ARY TVEAARY HING 9@ FABG1 QA NNER 6QYRIQ AN 6983 ?

v Tachofworld.In

B) aindeiq

C) 9q 6@
D) 2ade

15) What aspect among the options did the 1964-66 Education Commission recommend as an
integral part of all education?

A) Play-based experience
B) Project-based experience
C) Work experience

D) Research experience

15) <@ Geagde AuQ 6QAEQ € ¢9¥-99 Al AT ANY FNIQ I ATCRR T AER YAIRE FAIAINAR ?

A) sue 2IRIAG zdge!
B) ges 2GS zéwe!

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

C) @I zdEo TeCh OfWO rl d :

D) 2qaaie ANRO!
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) All letters from A to Z are written as per the alphabetical order. If A and C interchanged their
places, B and D interchanged their places and so on, then which letter will be 7th to the left of R? (
Last 2 letters Y and Z are kept as it is)

A) P
B) O
C)S
D)Q

16) A @ Z ade ang 280g@e @4flinl @a agaia sadiniad | 9@ A ve* C Qe gie 2QRIQee «@ed, B ver D da@aea
2o AQRIRRR @ed Q° AIFQ F1&l IE Q71 QIR QEE, 6662 R @ g 2ga YRER 624 28aG AEQ ? (688 9 280 Y e
Z o gie 29RQEQ agian 1)

»* Techofworld.In

c)s
D)Q

17) In a certain code language, if the word CHARACTER is coded as 381913259, then how will the
word AUTHORITY be coded in that language?

A) 132869927
B) 132969827
C) 132868827
D) 132968837

17) ¥e 7%a sriq aisicq, 9§ CHARACTER g0 air e ¢ em9 g ¢ aueca 621 62108, 606@ AUTHORITY 9eé @ 632 aigisa
30d eele QU IS ?

A) eNIr9Hee9o
B) em9¢oerye
C)eqorsorr9o
D) em9eorrae
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18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Is m/n > p?
l.m>np

l.n>0

+ Techofworld.In

Q0982
B WON

18) QORYC gg9eca 530 @09 :
2. 2@ QR4 | anaue VAR 6aaIg Acaa 26T |

9. 2@ QR4 |1 ¥gdal anAie QAR 6aaIg A6ea 26T |
q. 98 QR | 9o || aeag 90 FZIe 666e AN VAR 62! Alel aiIg 266 |

¥. 2@ QQQd | e || anog 9eI0 FuIde 6069 B ANAIQ AR 60a Ale adyg g6« |

m/n > p 26G @7

l.m>np

l.n>0

A)®
B) ¢
c)m
D)¥
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Set Id : 62384 28 BATCH2_ D.EIL.Ed. Odia_10NOV2020

19) Aman and Badrinath start walking simultaneously from a point. Aman walks 2 km east and
Badrinath walks 2 km south. Then Aman turns 90° clockwise and walks 2 km while Badrinath turns
90° anticlockwise and walks 2 km. In which direction are they from their initial position?

A) Both in south—east

B) Both in East

C) Aman in East and Badrinath in North
D) Aman in South and Badrinath in North

19) 2aq 96 @@ala 9@ §9Q IRIAITER SIRAI 2R @03 | UAR 9 FEAIRCR 9Iq Ie @dala 9 FeAIFcR 8aY CIRE | GIa6a UAR

¢o® QRGIRNER G 9 FeniFicn eIREEI caen @dRia ¢o° QIFIRER GR 9 Asafica SIMAIB | 6arier Blea giode JoQ
cad P06Q 288 ?

A) @08 o@a-quaT h f I d I
v gchofworld.In
C) zee gdea ve edaia R@Q6CA

D) anq ofasa e edle QA6

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Who is the fastest runner among A, B, C and D?
|. A runs faster than B and D.

[I.C runs faster than only 2 runners.

A) 1
B) 2
c)3
D)4

20) YINYS g99Gesa 636 @aq :
2. 2@ FRQ¢ | anaiie QAR 6aeIq Acae 26T |
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9. A& QR4 Il ¥gal anie QRN 62Ig 6] 6T |
0. 9@ QA4 | e || aaaq 910 FADe 6069 ANAMIQ VAR 621 AT ATYIg 26T |

¥. 98 QR4 | e || eeag ei0 FaIde 6060 @ ANAIQ AR 62! i AdHIg 6< |

A, B, C <& D aaea @oon diee @47
. B wge D oig A 96 91569 6416@ |

1. C 6299 9 96 dIeas OIQ 621060 6Q1@ al6a |

». Techofworld.In

c)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) According to Sri Aurobindo, mind consists of how many layers which education should develop?

A) four
B) five
C) three
D) six

21) g1 26aIFes UQQAIAN, AR 6R60IT 230 A28 QIR AR QA AQE 629 AR ?

A) a@
B) @l °@
C)o%@
D) 8

22) A teacher provides her students with considerable autonomy and little support for developing

learning skills. The students have low self esteem and academic skills. Which of the following
classroom management styles she might be using?

A) Authoritative style T h f I d I

B) Authoritarian style e C O WO r ® n
C) Permissive style

D) Submissive style

22) 966 2GR OIS BIQAING C62Y ARG I FVE V0 FRIHEQ AL AR Fe3 | IGVIQININGA RF AR I 6788
Qu6l 025 | HAYE 686192 AACRA 6T ARIQ 6 6RUET LR FQRS ?

A) GRIGE 68
B) 9q6@ 6301
C) 290G 6391
D) 94190 6801

23) Reservation policy is

A) unconstitutional
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B) antisocial

C) constitutional
D) Unauthorized

23) Q°QQ6 16 6208

A) 2Q1RUIRR
B) 2Qiniea
C) Qe
D) 2quqe

24) How is questioning method also popularly know as in field of education?

A) Dialogic method Te C h OfWO I’| d a I N
B) Inquiry method

C) Socrates method

D) Cognitive method

24) 9690 966G 6QQ FIF16Q 7121 &g 6806 6RIRgA 26T ?

A) @10 aed
B) 2qQai? a8d
C) a6aq aad

)

=)

RGOQ a8d

25) As Assessment is a useful, desirable and an enabling process, one needs to do which of the
following things?

A) label learners as slow, poor, intelligent etc.

B) collect information continuously and record the same.
C) make comparisons between them.

D) make negative statements.

25) 6062Q RUISS 9@ QACAIN, ZIRPRE IS 9@ AV *GQI 9RO, REF FYAYE MUQ 604G FAQI AN 6ARAIN ?

A) daighaeg ue, ¢Qlg, QEAIR QUG NNER §RC KOG
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B) 7090 9oq Xge @ag I OI2| 6006 Q@09
C) 6QIR& AI6Q @RI @9
D) feIQIe 990 Qag

26) Operation Blackboard is a program by NPE

A) to provide blackboards to all schools

B) to provide smartboards and digital facilities to all schools
C) to supply all bare minimum facilities to all schools

D) to supply schools with free note books and text books

26) 20602% QIR6IE 6208 1Rda QNI @ 691gIA

A) A7g SMIRAG FRIAS| QAR Te C h OfWO rI d " I n

B) 2718 §21eaQq QIS6RIE 1e SRcIR gl 6AIGIRS!
C) 298 Qauieaq QIR QR 6QIBIRL
D) Sueageq AIGEI §liol Ie° AIoY 9aR 6AIGIRS

27) lvan Pavlov conducted his experiments on Classical conditioning on which animal?

A) Cats
B) Pigeons
C) Dogs
D) Rats

27) QeIe AI6QIR 64 QIS AAER SR RAAG IV @RS ?

A) seaalie@®
B) csacqiiaq®
C) gqefliaa®
D) AaIClPR®

28) Which of the following is an example of 'Response Analysis' of the sum 23 + 39 = 52
A)

The teacher tells the child that she needs to do more big number addition.
B)

The teacher finds out if the child is always careless in all classes and then reprimands her.
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C) The teacher finds out if the child forgot the carried over or needed to understand big number
addition.

D) The teacher tells the child that she is good at addition and needs to look at the number carried
over.

28) 39RYe MUQ 600E 6208 QIF 9N + N¢ = 89 ‘ORI F6gRE'Q IR RAIRQE

A) dae dAIQ Q23 64 Ol AR @ THYl 6218 AR AR

B) 9% R18QIg QI3 A3 AAIT AQ 694168 ATA ARG UIRANR FEQ I 61'A6R 1@ *ed
C) ase RIEQQ UIREM 62 TNS R2R FAILAIREQ P QACLIAG & 9 THYI 6QAQ g@@l QR

D) 3dee daicqg 928 6a 6d 6aIa RRQIER QYC O I 927 FAILINYR FREQ 6QYR AR

29) The Teacher Education Policy in India has evolved over time and is based on recommendations

contained in various Reports of Committees/Commissions on Education.All of the following are the
important ones EXCEPT

A) Kothari Commission TeCh OfWO rld B I n

B) Chattopadyay Committee
C) Sarkaria Commission
D) Acharya Ramamurthi Committee

29) QIESEA ANAGEF @ G9@ JAI 416 F9d0 62IRE 6 G QUsa FaR QAG/efdee A6aITER 2]l geIe
Qa6a 12! 9946030 | FY6R 2RI 6RNEAITY QIR 6T6M AR A VAR JRRID ?

A) 610101 @Aae

B) eecicaiia QA5
C) aeqidel afae

D) 2101y qiagel @4e

30) According to Affective Domain, Organisation refers to

) being aware of or attending to something

) showing some new behaviour as a result of experience
)

)

oo0wo>»

integrating a new value into one's general value and giving it some ranking
acting consistently with the new value
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30) geuedIa1 6R16ARYER AQAICR, TPEOR 92l YGE @6Q T e C h OfWO rI d I I

A) @8 §8060 A6ER 6241 FA 6AINERE!
B) 20HOIQ TRITR ISR @8 ROR 2CAE 62sAR

C) 9@ QRIGE RIQ 9@ ARIRE GRIER IN1YS RAQ| I 9RIQ AF QY 6QQ!
D) qe® qa QARG RAIGE WER ALY RAR
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 632 QUVICQ 6R6OIT QG QUGR AT 988?

A) eo
B) 90
C)y9
D) 98

32) ‘e’ 20ad Ye NS A6 MO 998q QIS |

»=  Techofworld.In

C) @de
D) feae

33) 69K AgVYQ AQE 9g - 6ASITE QT & gRIQ F6aTY ?

A) Q43 QIeR
B) og QIo@
C) @3 QIee
D) g& qioa

34) ‘usn1@’ 9ea Fad0IdERIR 49 QIS |

A) gsqi@
B) aa19e
C) faie
D) g«

35) 'QIe’ 695Q 6898 QEA YEAIT QR 9’4l 6297
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A) 6l
B) sam
C)ea
D) Qo

36) 98 99 6Q60 RAUVER IND?

A) 9@
B) 8@
C) od
D) ais

37) ga6@ 200% aIa Q@emsa IQER 6@ YO 9 ?

vewe  Techofworld.In

C) ‘@’ geva
D) ‘@’ 9eua

38) ‘Qaq 210 aIRel’ Fa 2d §Qaé @ |

A) @9%l @ae

B) 246 o@a!

C) 6QI941aaa 629
D) anéd 624

39) ‘ageaiy @AQl’ 2dq IS QAL 9F FQUE Qa |

A) 216 420
B) 216 24
C) 216 ¥ae!
D) @6 @eQl
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40) 69Q 62Q8 YYIQ Y1Ree g2 - 10I6a gIf1ner @ geIa 9683417

A) Goie J6886

B) Qe Q6694

C) gaRIae Q6896
D) @°§iIQIoa 36896

41) ‘aoay’ 4ea AEAIRIAG 6 QI8 |

A) AARARE

B) saian ¢iage! siay
C) fage ¢

D) saigiaiel 220Re &iay

42) g9 99G0% 7F 2¢ 20IR IR T68T 28 A1 F6R, 62 AFG F'E LIAN?

nese | @chofworld.In

B) saiqige aa
C) 6dlae e
D) 6dldi@ a&

43) ‘08’ 2dea ‘QUR’'Ye"a 6QI96R 600 E9Q QIS |

A) 8929
B) 6sqaie
C) ogaie
D) 2iq2ie

44) 9 Q98| 96LAQ da 9469 Rl - @eel @ gRIa AQ7?

A) Gal 9@

B) @i Q6896

C) Gaie d6a96

D) Gol F68961Q Y6896l
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45) ‘alear’ 40e AAIFERRIP 9Q QU |

vee | @Chofworld.In

B) e
C) Sie6ae

D) si9
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Section 6 - Paperll-Mathematics

No. of Questions: 15

* S
46) What value of y satisfies the equation i

oI

A) 21
B) 23
C) 25
D) 27

¥
46) y @ 6249 QIQG aneaaq A0R @4 a=i 2 ?
A) 21
2= lechofworld.In
C)25
D) 27

47) What is the maximum number of non overlapping triangles that can be drawn inside a quadilateral
such that atleast one side of the triangle coincides with the sides of quadrilateral?

A) 2

B) 4

C)5

D)6

47) QQI8e 660 THiR GRS Y@ GQER AUER rAAINMIRE 6AAGR 6AFIFRR UTRNER 6AIGN Al OQURe 6aIEN alf ae AR
62089 e 6Q7EH QAR AUER AYRA6R ?

A) 2
B) 4
C)5
D)6
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48) Anil, Krish and Sathish start from the same point at the same time and in the same direction to
run around a circular ground. Anil completes a round in 25 seconds, Krish in 30 seconds and Sathish

in 15 seconds. After what time will they meet again at the starting point? (in seconds)
A) 150

B) 200

C) 300

D) 600

48) uda, 6 9e ABE ¥R AR YAQ IR AFAER I AFIR FEEa 9@ EIRIA §isa 6FIERI 2ien @ad | 2ha 25 6asrasa, 6
30 sa6easn 9e* ADE 15 6a60E6R 661G Qe ARG F0B | 6860 AND T6R 6AAIEH YAFIR 2INA FIRER 6056 ? (6A6RE6R)

A) 150
B) 200
C) 300
D) 600

49) At r% per annum, a sum doubles after 10 years under simple interest. The rate of interest per
annum is

v Techofworld.In

C) 15%
D) 20%

49) aide rx 62, 10 od 06 9 QI8 AR QU6 §Q8e 91 T QI 210 6208

A) 5%

B) 10%
C) 15%
D) 20%

50) Which of the following is the solution of the system of linear equations 2x -y =9 and x +y = 6?

A)x=1andy=5
B)x=5andy=2
C)x=5andy=1
D)x=2andy=5
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50) 89Rge AuQ 6206 6208 2X - Y = 9 9e* X + Y = 6 @ 606166 aead I8A gEIRa QAR ?

A)x=19e°y=5
B)x=549g°y=2
C)x=549a°y=1
D)x=249g°y=5

51) What is the area of the trapezium whose parallel sides are 6 cm and 10 cm and height is 8 cm?

A) 60 sg. cm
B) 64 sq. cm
C) 72 sq. cm
D) 80 sq. cm

51) 9@ ¢899 AAIBAIR QIYYER @ 9 6QA Ie° 0o 6aF Y QLGOI M 6QAT 626N IR CIQTR 6R6E 629 ?

ve== Techofworld.In
C) 72 ad ead
D) 80 «d sad

52) Four iron metal rods of lengths 378 cm, 108 cm, 117 cm and 396 cm are to be cut into parts of

equal length. Each part must be as long as possible. What is the minimum number of pieces that
can be cut?

A) 101
B) 107
ey 111
D) 121

52) 378 sad, 108 6ad, 117 6af e 396 6ad 338 QAT QLI 0eQ AR AN NGER AT 621 | Y6GIR 2rd QAAAR AR
6291 9QQ1 | AR 6R6OIT §1€6Q 0I2l FFIANQAGS ?

A) 101
B) 107
C) 111
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D) 121

53) The difference between simple interest and compound interest earned in 3 years at a rate of
interest of 5% per annum is ¥ 61. What is the principal amount? [Note: compounding is done
annually]

A) 2,000
B) % 4,000
C) % 6,000
D) % 8,000

53) aife 5% qu 2esa 3 adea 2SR 6ARYR AR QA Ie* 0QE g Aea ARy T 61 | 606@ 86Q GRS 660 ? (JOR:
0Rq8 Qe Q6 62108)

neeoo 1 €Chofworld.In

B) % 4,000
C) % 6,000
D) % 8,000

54) Three numbers A, B and C are in the ratio 2:3:9. The difference between C and A is 210. If all
three are positive numbers, then what is the value of B?

A) 30
B) 60
C) 90
D) 120

54) Geaie ae A, B e C o zgaie 62a8 2: 3: 91 C e A auea aldey 6208 210 |1 9@ 8618 Qi@ URIAR el 9215,
6069 B @ 1R 6@66 ?

A) 30
B) 60
C) 90
D) 120

55) Diagrams used to represent relationship between finite sets is

A) Argand diagrams
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B) Bar diagrams
C) Pie diagrams
D) Venn diagrams

55) aifie 6aeg@e Auea andq @diadl el MeQe 62989 @ING N1 6208

A) zdie QIRGINQ
B) ciq 19g161Q
C) ae QIR9INQ
D) sar @10G191Q

56) What is the value of the following expression after simplification?

Expression: V(1+ V(36 +(V729) x 20))

> Techofworld.In

A

)2
)1
)9
)5

O 0o

56) aen1ead a6a FQRYe ARG ORY Q'€ ?

adawd: V(1+ V(36 +(V729) x 20))

A) 25
B) 15
C)9
D)5

57) A circular swimming pool is surrounded by a circular concrete walkway and the area of the

walkway is 9/16 times the area of the swimming pool. If the width of the walkway is 2 m, then what
is the radius of the swimming pool?

A)4 m
B)5m
C)8m
D) 10 m
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57) 4@ QoIRIa gafF ga 916ae6e Q1 QOIRIQ @6 SRIde QIR 6a8 6RNRE IS CRINAR TR AT YRR 6FQTRQ ¢/ g6l
266 | Ad SRR 69166 9 TR 62IR2IN, 606 AP YA IAIT ERET 629 ?

A) 4 dea
B) 5 fea
C) 8 dea
D) 10 dea

58) The ratio of the present ages of Seeta and Geeta is 2:3. 10 years back, the ratio of their ages
was 1:2. What will be the ratio of their ages 20 years from now?

A) 4:5
B) 5:6
C) 57
D) 6:7

58) atel ve* aoie eoaIee @aaa 2Qale 628 2 131 10 ad ged, 6aries @aaa 2gae 1: 2 gall adaie 0Q 20 «d asa
6QAFINEA FOAR AQDE 6R60 629 ?

v+ Techofworld.In

C):5:¢
D) 6:7

59) In a group of 50 people who drink at least one of the two drinks tea or coffee, 30 drink tea and
14 drink only tea. How many drink only coffee?

A) 23
B) 22
C) 20
D) 16

59) 8o e 6019160 6QGAIER & @0l @F QAT ARIQ AP *76Q 661G TR8S, No 98 &’ JABS Y Y B¢ 6 6§88 | 6R6ERE
6RIR 6QeR @ J28 ?
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C) 20
D) 16

60) Which is the least number by which 7,203 must be multiplied so that the product will be a perfect
square?

A) 11

B) 7

C)3

D)2

60) aad¢) 6@ ey a2l QIel 7,203 e 6291 2IQaYR QIR QIR QAR 9@ RAYS 96 629 ?

»n | echofworld.In

B) 7
C)3
D) 2
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The highest part of Earth's atmosphere that jet powered aircrafts can reach is

A) Stratosphere
B) Troposphere
C) Mesosphere
D) Thermosphere

61) Q916 QIYAGRQ AR 28 6ALWOIER 6REARE FAIRGPR AT aleR

A) §/6913aQ
B) g6I39Q
C) srca o
D) 26¢11Ig9Q

62) Gradual increase in the overall temperature of the Earth's atmosphere is known as

A) Ocean Warming

ey Tachofworld.In

)
)
C) Global Warming
D) Land Warming

62) 9AIQ1Q QIGASRQ ANFR FIAAIGIER UIER U16Q §& 9T QIA6R vaigel

A) 6agq @iée
B) gq @ide

C) squeim @ide
D) quig @idte

63) Which judicial writs means 'we command'?

A) Writs of Habeus Corpus
B) Writs of Ceritorari
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C) Writs of Mandamus
D) Writs of Quo Warranto

63) 62¢ i@ 6RsIa 2d 6208 ‘26A F6R8 62Q° ?

A) 21704 @da @ 6a
B) 6ad661a & 6@l
C) 19112 @ 6asl

D) 68 gieeree! & 6agl

64) During the reign of which dynasty, the Rathas of Mahabalipuram was built?
A) Pallava Dynasty

B) Chola Dynasty TeC h OfWO rI d . I n

C) Rashtrakuta Dynasty
D) Pala Dynasty

64) 629 AUIFA°EQ IAF AIFER ALAARYANR Q2 Felld FAAIRYRI?

A) 0R QIF°E
B) 6oinl QIee°d
C) QigIge QIea°d
D) ainl QIee°d

65) The 1985 Helsinki Protocol is associated with

A) Acid Rain

B) Soil Conservation

C) Coral reefs Conservation
D) Mangroves Conservation

65) e¢rg 62e4 6gi6cian Y2l ARe 966

A) &g edl
B) 76@ ¢ege
C) goIe Tas8
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D) fuIRgaq Tase

66) Which among the following options usually help the scientists to understand the solar system
and universe in a better way?

A) Comets

B) Planets

C) Artificial Satellites

D) Natural Satellites

66) AR TRGER FRIQ 6RNE ARIANGE 6IRRRAIRT 6d1Q YR 9&° GLIEF IR AR AAINEA IR
AIQIAY FEQ?

A) ¥R6ag

B) g

C) QG @age

D) giQde @age

67) All Bills passed by the parliament can become laws only when the President has assented it
under

A) Article 111

naer o 1 €chofworld.In

C) Article 112
D) Article 112 (1)

67) AR QIAl 919 RAILIRER! ANY AR AIRRER ARES 6ARACR 6ACOEIER QI§O§ 2IQ APEANQR AR

A) uial eee
B) dliel eee (e)
C) el ee?9
D) uel e e 9 (e)

68) Identify the basis of difference between Parliamentary and Presidential form of Govt.?

A) Relation between the legislature and executive
B) Legislative supremacy in law making
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C) Method of election of Head of the State
D) Power of Judicial Review

68) radia 1e QIRad ARG A6 AIIQIR RN G RO |

A) QuUIRARI Ie* AINFIR! AveE ane
B) ziaf Gutea ARR6e Q6!

C) SI9Y Qe Feion aad
D) «uide amaia 69

69) The area bounded by the Tropic of Cancer and the Arctic circle on the Earth is known as

A) North Temperate Zone
B) South Temperate Zone
C) Torrid Zone
D) Frigid Zone

69) @6¢ QI8 Y& QYR UGTR AR QYA AR ZPOR 2| NVER FEIGE!

A) Q@ ane16o!s 689 TeChOfWO rI d s | n

)
B) @86 816018 688
C) 919 a1&m

D) @ac1am

70) What was the name of the Operation started by the British Govt. to arrest the leaders of Quit
India Movement?

A) Operation Blue Star
B) Operation Zero Hour
C) Operation Thunder
D) Operation Rhino

70) QI008Ie ZICRIFAS 6ROIFING G *ERIQ §6¢ ARIOS QIQI LIQA (RS ARAIRS FIN @€ R ?

A) 2960QR QA
B) 2a6aae F6ql A
C) 2260aR 24
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71) In the history of medieval India, who among the following rulers founded the Slave Dynasty?

A) Ghiyas ud-Din Balban
B) Shams ud-Din lltutmish
C) Qutb ud-Din Aibak

D) Nasir ud-Din Muhammad

71) FRIGONS VUAGA RGLIAER, FINYS FIARTAE FRIQ @ QI QIF°E JGVI *QeM?

A) JIq QQ ] IRQIQ
B) quI6 @@-QQ angafie
C) goQ @e-9q 2RAIR]
D) aida @Q-3] A9

72) The Ministry of Environment and Forests was formed in

1985

73) Article 74 (1) mentions categorically that

Ministers

Ministers
C) The President is the defender of the Constitution
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D) The President facilitates the Law making process

73) el 9% (©)6a Y2l ARG NER AERY @68

A) QI998, 9@ AR A6@, NA1 AATQ AQAER 2RARR @ F6R QY *RAIRER
B) @at a089Q aaINdeq QIF 62IRARIQ AIFAE H6 QIKY @RAIREe Q1T

C) Q1806 62023 QAMINQ QAIRIAT

D) QFAE AR CUR gFAIQ A6 A6S

74) If the time difference between two places is 2hrs 20min, then what will be the difference in their
longitudes?

A) 45°

B) 35°

C) 560°

D) 30°

74) 93 Qaf Qe AER A Al 9 el 90 FRE, 606@ 6ANIFER QT ARIER AITRY Q'8 621 ?

v Techofworld.In

C) 50°
D) 30°

75) The Khilafat Movement fell apart due to which of the following events?

A) Pact signed between INC and Muslim League
B) Revolution in Turkey

C) Violence in Chauri Chaura
D) Announcement of concession to Muslims by British Govt.

75) 39RYe 206IQE MRIQ 6046 AN YAITE 2CRINR ARG 6RAQIRAR! ?

A) IR e QAR A ARIER AVRS QB

B) @416a 99

C) Sae1 eaalsa @al

D) 364 20RIOS QA YQANAIRAIRE AR QLIS 6QIVEI
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following gas will form when Cu reacts with hot and concentrated HNO3?

76) Cu 269 9o araregsee HNO3 a6 9680 anieen FQAYe aNid AQ 6066 98 62Q ?

A) NO

)40 Techofworld.In

D) NO2

77) Select the CORRECT statement regarding normal boiling point of liquids.

A) Vapour pressure of liquid is less than 0.5 atm
B) Vapour pressure of liquid is equal to 1 atm
C) Vapour pressure of liquid is less than 1 atm
D) Vapour pressure of liquid is equal to 2 atm

77) eae aaidie ANIes goe ON°Q daosa A0R FAQEIT Q cor aaq

A) eoqa @@ qa 0.5 atm @ aq cigard
B) coea ci@ qa 1 atm a6 aaie c21Rald
C) cana c@ q@ 1 atm q @q saiead

D) ¢eea c1a qa 2 atm a6 aaie c21RaId

78) The Sl unit of temperature is

A) ampere
B) candela
C) kelvin
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D) mole

78) QI9Q S| A9 /N 6208

A) 2EiQ
B) qleaml
C) 6aQf
D) sqim

79) What is the primary purpose of Saccharomyces cerevisiae?

neemess | @CHOfworld.In

B) Biofuel
C) Bioleaching
D) Baking

79) aReRIFieaq 6a60RZTAR IR AEN Q'€ ?

A) QI6aIqIQ
B) s5eaae
C) QIsaiens”
D) 6e&

80) Read the following statements and choose the CORRECT option:

(i) Stem tuber is a swollen tip of an underground lateral Stem

(ii) It is covered by a corry Skin with a number small depressions called eyes

A) (i) is FALSE and (ii) is TRUE
B) (i) and (ii) are TRUE

C) (i) and (ii) are FALSE

D) (i) is TRUE and (ii) is FALSE
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80) gRge SRQEN19ee aeq v A0 a8 Q189 :

(i) e3¢ 6490 6208 9@ ULAGIAY AICCAIR 68 @ TRAIRYR! §Q
(ii) <21 9@ 6@I101 96 QIQl 2IY FINR UCRR 686 F6YAR QR ARIFE

A
B

) (i) 21204 266 e (ii) AGY 26S
) (i) < (ii) QB4 2168

C) (i) wer (ii) 2104 2169

D) (i) a©4 2169 e (ii) 2ARY 266

81) Oxalic acid is used as standard solution to standardize KMnO4. Which among the following will
oxalic acid get converted into along with its oxidation number change?

A) CO with a change +3 to +2 oxidation states

B) CO and CO2 with a change +3 to +4 and +2 oxidation states
C) CO32- with a change +3 to +4 oxidation states

D) CO2 with a change +3 to +4 oxidation states

81) KMnO4 @ qiee @8al aiel 29180 13e AIRe AARIR QISR Q1990 941 FORYe MIQ 6040 AR 13e 1RIe 2F66aR el

Q099 ARG QUIBEE 629 ? TeCh OfWO rI d " I n

B) +3 @ +4 1 +2 2§6eaq aeg adede ade CO ver CO2
C) +3 @ +4 2§6eae 2eg adede age CO32-
D) +3 @ +4 2ageeas aeg adede ade CO2

A) +3 @ +2 2@6eaq 2egl adeoe ae CO

82) Why does liquid diffuse less compared to gases?

A) Molecules in liquid are closer than gases and hence more collisions occur during their
movement

B) Molecules in liquid are closer than gases and hence less collisions occur during their
movement

C) Molecules in liquid are distant apart than gases and hence less collisions occur during their
movement

D) Molecules in liquid have more kinetic energy than gases and hence more collisions occur
during their movement
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82) quia @R%Iea 0o aQld @RS @ GaIe 997?

A) oo@ AQIL6R RN UGYYFR YA UCAV RREEN I 604 6ANRSA F6 ANAER AR UFY 29
B) e A6 YR UYYFR YA UCAV FRCEN I 664 6ANNTR 9T ANAER @N AR 4
C) ¢o aideq gel UGIFR QA O YRR I&* 604 6ANIRTE 68 ANGER @A AR I

D)

00R 0QI6R QI AGYFRER CHIA ACARVI AP IR 69 2N I 604 6ANAFR 66 ANAER AYR AFY 9

83) A bike moving at the speed of 80 kmph possesses

A) Heat energy

B) Sound energy

C) Chemical energy
D) Mechanical energy

83) 4@ QIR A2l @ A9l gG 80 77 696I6a 6F AQR , CI2IQ 63 6298 :

c—y Techofworld.In
C) qlainda 63
)

D) a3 6@

84) Tissue taken from its original site and transferred to an artificial medium for growth and
maintenance is called

A) Agriculture

B) Explant

C) Transplantation

D) Horticulture

84) 1eia 9 ¢IeQ FULINYL! 96 AFQE Ie* QRGNS IR 9@ RGN AIING YIRIBEE 6RITQ QIan |

A) 9g1RRE

B) wgqie

C) QIgQIn6eaR
D) 205eRQ
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85) Mitochondria are called "Power houses of the cells" because

A) they are semi-autonomous cell organelles
B) they contain own genetic system

C) they produces cellular energy

D) they divide by fission

85) ARcciadlq ‘6RIegeaa 639 ae’ QA

A) sagde 26-Qoraido 6qia 2idisaq
B) 6d9Ga0 F99 6R625@ A/ a9
C) 6201162 62RYAIQ 68 QYR 268
D) 6QFI6R GAIRR QI6l QG @08

86) Ephemeral plants are those plants which

A) store water and food TeCh OfWO rld . I n

B) have long slender stem
C) have very short lifespan
D) grow in saline soils

86) veasaain afie 6208 622 a8 Q2!

A) 89 Ie° G4 Taae @GN
B) @7l 6¢0a6ad 028

C) 920 @A f1eeqIe 23

D) 82 aIgeq @2l

87) What mol% of cation vacancy will be present in a crystal structure of NaCl if 10~ mol% of CoClz
is added as an impurity?

A) 6.02 x 10" mol’!

B) 6.02 x 10" mol-"

C) 6.02 x 102 mol-*!

D) 6.02 mol”
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87) NaCl a v 96e raeqica 6ad Mol % auseae R e@e 9@ CoClI2 a 1073 mol% 3@ 2gael Q196 6216 RQIAIN ?

A) 6.02 x 108 mol"!
B) 6.02 x 10'5 mol"!
C) 6.02 x 102 mol!
D) 6.02 mol”'

88) The value of 'g' as the acceleration due to gravity at the surface of the earth is

A) 5.9 m/s?
B) 7.9 m/s?
C) 4.3 m/s?
D) 9.8 m/s?

88) Q2e1 ISR QAU6A FIRIGHE 6QIF VG QASER 'g' A MY 628 :

A) 5.9 mis? TeChOfWO rld z I N

B) 7.9 m/s
C) 4.3 m/s?
D) 9.8 m/s?

89) How many bones does Humans have in their vertebral column?

A) 33
B) 52
C) 32
D) 56

89) Adaneea @64Qe 3A6a 6a60IT G 213 ?

A) ™
B) 89
C) |9
D) 82

90) A receptor protein in the plasma membrane which maintains adhesion between the extracellular
matrix and intermediate filaments inside the cell is
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A) Fibronectins
B) Collagen

C) Integrins

D) Glycoproteins

90) qig! 6ARIR6a QI IR G6AYE 69ITR QIR IFEICARAIR AIEF ¥ reaficNe GRlsre F6R UIFER ARIA Q6s

A) TIRERACARR

s | €ChOfworld.In
C) eredq
D) QIRsRIegIce
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’ Question Paper No: ’ 62384 28

Answer Key

TechoﬂNoﬂdIn

1A D A

2| B 32 A 62 C

3|C 33|D 63 | C

4D 34|C 64 | A

J | & 35| C 65| A

6|C 36 | B 66 | C

7|B 371 A 67 | A

8| A 38| D 68 | A

9| € 39|C 69| A
10| C 40 | C 70 | B
11| A 41 | D 71l | €
12 | A 42 | A 12| B
13| € 43| D 13 |B
14 | C 44 | C 74 | B
15| € 45| B 75| B
16 | B 46 | A 76 | D
17| A 47 | B 77 | B
18 | C 48 | A 78| C
19 A 49 | B 79| D
20 (C 50| C 80| B
21 [A 51| B 81| D
22 | € 52| C 82| A
23 | € 53|D 83| D
24| C 54| C 84 | B
25|B 55| D 85|C
26 | C 56 | D 86 | C
27| € 37| C 87 | A
28 | € 58 A 88 | D
29| C 39 |C 89| A
30| C 60 | C 9| C
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